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hEmHREFETHIS
TEL (022)232—8121~2
SM7E1A238 (K) XA (BEN) FAX (022)232—8144
QD) 3\ 90 t (27Dt 174 t BHRFE 264 t
FTE & B REER
()ﬁf % E i B o =iE thiE RiE o % E i B {1 =il B {E Rl
[0Y)) = 1 Kg 3,564 1,080 734
BANL JtiEE i 1 Kg 702 — 594
EFHh = fth 1 Kg 648 475 410
EEL(FAE) EF it 1 Kg 6,156 3,564 756
HULNESH il 1 Kg 1,836 1,080 864
TIE =83 1 Kg 1,188 324 324
X-AZD At 1 Kg 6,480 5,940 4,320
HZU 1Lz 4th 1 Kg 2,700 2,484 1,620
SRESZV = A fth 1 Kg — 17,280 —
BA =Bt 1 Kg 8,640 — 6,480
EHIZ JtiEE it 1 Kg 5,940 — 3,240
HHU =83 1 Kg 6,480 — 4,212
Fo=H JeiEE 1 1@ 486 162 135
HxY hE{th 1 Kg 1,836 1,566 1,458
LL#H M 1 Kg 1,134 770 621
BENE EF it 1 Kg 4,860 2,700 1,242
Zf-TH JeiEE 18 432 184 108
[TFECY FE M 1 Kg 1,458 1,026 864
*E = A fth 1 Kg 3,564 — 2,430
RART-L i mpi] 1 Kg 1,512 1,296 702
BEHET-LN ZiEith 1 Kg 1,604 1,604 1,188
Pl T A)hith 18 7,776 6,156 4,536
BH=Hniy dtiEE 1 Kg 728 540 324
Hf-C dtiEEfth 1 Kg 2,376 1,620 648
INF = it 1 Kg 1,836 1,048 918
IR HE)I|4th 1 Kg 1,728 976 976
f=IEAIZ dtiEE 1 Kg 4,320 — 1,080
KFECH deiEE it 1 Kg 4,320 4,320 4212
DIXHECH FNER Lt 1 Kg 2,808 2,700 2,376
EFEFERCH It 1 Kg 2,160 2,052 1,836
B(E = 5 Kg 3,780 2,376 1,728
XAHL R 1 Kg 760 — 499
FTHHLN5A) FFEit 15 7,344 6,480 4,860
THHLMN(20A) | FHEih 158 7,020 — 5,448
BlvbL = fth 4 Kg 2,592 1,634 1,620 %
B525 EFfth 1 Kg 864 — 648
fRSAE = fth 1 Kg 1,620 772 458| fEAERGEEE 26t 12
KASNY (%) Fih 1 Kg 918 648 592| EFAhL 2~3E|L
moH 2R Sith 1 Kg 1,728 972 864| EAVZ 2~3%|%
ERFSCA kLt 1 Kg 1,944 1,944 1,188 ElvhL 2~3%5
BERF(EEQ) JtiEE i 1 Kg 3,780 1,634 1,404| EANLY RE
B2 JtiEE i 1 Kg 378 — 216
ZTDMIRFEEE 53 t 1F
(2)F Dt BIRE I+ INER
AERE T F1) fih 1 kg 1,426 — 1,404 AERE1T IMES
MR- TSR 1 ke 1,998 1,852 1,480 5~z INES
AAUEE R Lt 1 kg 4,698 3,780 3,780
BRI T O 7t 1 kg 1,814 1,814 1,523
BEREF F1) 4t 1 ke 1,512 1,271 1,264
BFE9 JtiEE it 1 ke 814 514 514
=N TS ANt 1 ke 6,264 4,968 4,471
b= ol g T A Btk 1 ke 2,484 1,588 1,404
b= AT deiEE it 1 kg 8,694 — 5,845
BESIEE o Eth 1 kg 3,510 - 3,078




